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 1. The question paper will be given in the form of a Question Booklet. There will be four versions 
of question booklets with question booklet alpha code viz. A, B, C & D. 

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of 
the question booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the 
Examination Hall. 

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha Code 
in the seating position, please draw the attention of the Invigilator IMMEDIATELY. 

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If 
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with 
same Alpha Code. 

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should not 
open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the candidate should check that the 
Question Booklet supplied to him contains all the 100 questions in serial order. The Question 
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to the 
notice of the Invigilator and get it replaced by a complete booklet with same alpha code. This is 
most important. 

 8. Question Serial No. 1 to 60 are printed both in English and in Official Language 
(Malayalam). Doubts regarding the meaning and translation of Question Serial No.  
1 to 60 will be settled based on the Questions in English. 

 9. Two blank pages are provided before the last page of this Question Paper for rough work. 
 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 

marking your answers. 
 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 

Choose the correct answer and darken the bubble corresponding to the question number using 
Blue or Black Ball-Point Pen in the OMR Answer Sheet. 

 12. Each correct answer carries 1 mark and for each wrong answer 1 / 3 mark will be 
deducted. No negative mark for unattended questions. 

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that 
the Invigilator has verified all the entries in the Register Number Coding Sheet and that the 
Invigilator has affixed his/her signature in the space provided. 

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind 
of malpractice in the Examination will result in the disqualification of the candidate. 

 INSTRUCTIONS TO CANDIDATES 

Question Booklet 
Alpha Code 

Question Booklet 
Serial Number A 

 Total Number of questions : 100 Time : 1 hour 30 Minutes 

           Maximum Marks : 100 
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1. Date of Temple Entry Proclamation issued by Sree Chithira Thirunal is, 

(A) October 12, 1936 (B) November 12, 1936 

(C) August 12, 1936 (D) December 12, 1936 

2. Who started the Newspaper “Kerala Kaumudi” to represent the marginalised Ezhava 

masses in the public sphere of Kerala : 

(A)  T.K. Madhavan (B) C. Krishnan 

(C) Kesari A. Balakrishna Pillai (D) C.V. Kunjuraman 

3. Among the following statements which is not true regarding the aftermath of the Revolt 

of 1857? 

(A) Governor General of India came to be known as Viceroy of India  

(B) It marked the end of East India Company’s rule  

(C) The Charter of the Company was renewed for twenty years  

(D) The office of the Secretary of State for India was created 

4. Which among the following was not included among the principles of India’s Foreign 

Policy? 

(A) Non-alignment   

(B) Peaceful co-existence 

(C) Promotion of international peace  

(D) Policy of interference and settling in other country’s internal affairs 

5. Which of the following statements regarding the impact of the French Revolution was 

wrong? 

(A) End of autocratic rule of Bourbon Kings  

(B) Little improvement in the condition of middle class 

(C) Decline in the supremacy of the Church  

(D) Declaration of Human Rights 

6. The proposed deep-sea port ‘Vadhavan’ is located in which State? 

(A) Maharashtra (B) Andhra Pradesh 

(C) Gujarat (D) Karnataka 
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1. ŗčēòĒtĒć üĒćĔĀđŕ ĘkŗüŗāĘČčĀ ČĒĊÝăćÝ āĔĈėp÷ĔČĒc üēĆüĒ : 
(A) oĭĘ÷đăœ 12, 1936 (B) ĀČÝăœ 12, 1936 

(C) àïsĝ 12, 1936 (D) ùĒďÝăœ 12, 1936 

2. ĘíćĊtĒėn ėāđüĔąūĉtĒŔ āđœčřČŔkćĒkėpŨĒćĔn âċČ 
ôĀüėĆ ŗāüĒĀĒÿēíćĒcĝ àćÝĄĒc "ĘíćĊ íĞąĔþĒ" āŗütĒėn 
sđāíĀđŇ? 

(A)  ÷Ē.ėí. ąđÿČŒ (B) ďĒ. íĖŎûŒ 

(C) ĘíďćĒ e. ăđĉíĖŎûāĒll (D) ďĒ.ČĒ. íĔŧĔćđąŒ 

3. üđėċ āĈĆĔn ŗāŏüđČĀíĊĒŔ 1857-ėĉ íĉđātĒėn āćĒûĒü 
ĂĉąĉīđtĘüļ? 

(A)  ïČœûœ ôĀĈŔ üĔ÷œnĝ ęČĘŗďđĆĒ ëł inŖ enĈĒĆėp÷ĔÝ 

(B) íĉđāÝ âsĒnŖđ ímĀĒ ĄćûtĒŀ ČĒćđąąĒŨƧ 

(C) ímĀĒ òđœŨœ ićĔāüĔ ČœĎĘtkĝ āĔüĔkėpŨƧ 
(D) ėďŗíŨĈĒ ëł Ęsƃĝ ĘĂđœ inŖ en āþČĒ ďĖƈĒkėpŨƧ 

4. üđėċ ünĒćĒkĔnüĒŔ inŖĆĔė÷ ČĒĘþčĀĆ üüřšĊĒŔ uŕėp÷đtļ 
èļ? 

(A)  ĘòćĒĘòćđĀĆÝ  

(B) ďąđÿđĀāćąđĆ ďĐČœtĒüřÝ 

(C) anœĘdčēĆ ďąđÿđĀÝ äŨĒĆĔĈpĒkĔí  

(D) ąƃĝ ćđôŖšĊƧė÷ aĄŖnćíđćŖšĊĒĉĔll i÷ėā÷ĉĔÝ āćĒĐćĒ 
kĉĔÝ 

5. ŗĂŦĝ ČĒpČtĒėn ĂĉšĊĒŔ uŕėp÷đt üđėċ ünĒćĒkĔn 
ŗāŏüđČĀĘĆļ? 

(A) ăœĘăđő ćđôđknđćĔė÷ ĘďřcđÿĒāüŖ ĄćûtĒŀ aČďđĀÝ 
íĔĈĒcƧ 

(B) ąÿŖČœg ďąĕĐtĒėn aČs ąđƃąĒĉīđėü üĔ÷œnĔ 
(C) āllĒíĊƧė÷ aÿēčüřtĒŀ íĔĈČĔŪđĆĒ  

(D) ąĀĔĎŖđČíđč ŗāîŖđāĀÝ 

6. ĀĒœdĒƈ àċk÷Ŕ üĔĈąĔîąđĆ 'ČđÿřđŒ' èļ ďÝsđĀtđĻ? 

(A)  ąĐđćđŗƈ (B) àŗnđŗāĘþō 

(C) ïĔôĈđtĝ (D) íœûđ÷í 
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7. The transition zone that separates the mantle-core boundary of the earth : 

(A) Moho Discontinuity  (B) Lehmann Discontinuity 

(C) Conrad Discontinuity (D) Guttenberg Discontinuity 

8. The most common instrument used to measure the relative humidity of a region : 

(A) Ceilometer (B) Hygrometer 

(C) Barometer (D) Hydrometer 

9. Which among the following statements are true regarding ‘Kurasio Current’? 

(i) A cold sub arctic ocean current flowing through the east coast of Japan. 

(ii) A warm ocean current flowing through the east coast of Japan. 

(iii) It is also known as Black Current. 

(iv) It is a branch of West Wind Drift of Southern Hemisphere in South Atlantic Ocean. 

(A) (ii) and (iii) only (B) (i) and (iv) only 

(C) (ii) and (iv) only (D) (i) and (ii) only 

10. The type of data that describes the characteristics of a geographical feature in GIS. 

(A) Raster Data (B) Spatial Data 

(C) Non Spatial Data (D) Vector Data 

11. Identify the plain in Northern India that extends between Satluj River Basin in  

north-west to Yamuna Basin in the South-East. 

(A) Rajasthan Plain (B) Ganga Plain 

(C) Punjab - Haryana Plain (D) Brahmaputra Plain 

12. Which city hosted the G20 Summit from 18-19 November, 2024? 

(A) Johannesburg, South Africa (B) Buenos Aires, Argentina 

(C) New Delhi, India (D) Rio de Janerio, Brazil 
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7. ĄĕąĒĆĔė÷ ąđnĒŔ-Ęíđœ aüĒœtĒėĆ ĘČœüĒćĒkĔn ďÝŗíąû Ęąîĉ :  

(A)  ĘąđĘĐđ ČĒcĒnü (B) ėĉhđŒ ČĒcĒnü 

(C) ĘíđőĈđĹ ČĒcĒnü (D) ïĔŨŒăœį ČĒcĒnü 

8. oćĔ ŗāĘþčtĒėn àĘākĒí àœŗþü aĊkđŒ èƃČĔÝ ďđÿđćûĆđĆĒ 
uāĘĆđïĒkĔn uāíćûtĒėn ĀđąÝ : 

(A)  ďĒĘĉđąēƃœ (B) ęĐĘŗïđąēƃœ 

(C) ăđĘćđąēƃœ (D) ęĐĘŗùđąēƃœ 

9. üđėċpĈĆĔnČĆĒŔ 'íĔĘĈđĎĒĘĆđ' ďąĔŗþ ŗāČđĐėt íĔĈĒcƧll čćĒĆđĆ 
ŗāŏüđČĀíŕ èėüĉīđÝ? 
(i) ôpđėn íĒċkŒ üēćŗāĘþčtĔíĕ÷Ē oċĔíĔn oćĔ üûĔt ďŃ 

àœŨĒĭ ďąĔŗþ ôĉŗāČđĐąđûĒļ 
(ii) ôpđėn íĒċkŒ üēćŗāĘþčtĔíĕ÷Ē oċĔíĔn oćĔ uŎûôĉ ďąĔŗþ 

ŗāČđĐÝ 
(iii) iļ ‘bđkĝ íĈnĝ’ en ĘāćĒĉĔÝ aĈĒĆėp÷ĔnĔ 
(iv) þkĒû aƃĝĉđnĒĭ ďąĔŗþtĒėĉ ‘ėČsĝ ČĒŒĹ ŗùĒłƃĒ’ėn oćĔ 

čđîĆđûĒļ. 

(A) (ii), (iii)  (B) (i), (iv) 

(C) (ii), (iv)  (D) (i), (ii)  

10. ĄĕąĒčđŏŗüāćąđĆ oćĔ ČŏüĔČĒėn ďřĄđČČĔÝ ďČĒĘčĎüíĊƧÝ 
ďĕòĒpĒkĔn ùđƃĆĔė÷ ĘāŇ : 

(A)  Ĉđsœ ùđƃ (B) ŏĘāĎŖŔ ùđƃ 

(C) ĘĀđő ŏĘāĎŖŔ ùđƃ (D) ėČĭƃœ ùđƃ 

11. Č÷kĔ ā÷ĒŧđĈĔll ďļ ĉĴ Āþēü÷Ý ąĔüŔ ėükĔíĒċkĔll ĆąĔĀđ Āþēü÷Ý 
Čėć ČŖđāĒcƧ íĒ÷kĔn utćĄđćütĒėĉ ďąüĉÝ enĝ ĘāćĒĉđĻ 
aĈĒĆėp÷Ĕnļ? 

(A)  ćđôsđŒ ďąüĉÝ (B) ïÝïđ ďąüĉÝ 

(C) āŦđŃ - ĐćĒĆđĀ ďąüĉÝ (D) ŗăhāĔŗü ďąüĉÝ 

12. 2024 ĀČÝăœ 18-19 üēĆüĒíĊĒŔ ôĒ20 ucĘíđ÷Ēkĝ àüĒĘýĆüřÝ ČĐĒc 
ĀïćÝ : 

(A)  ėôđĐnđŏăœį, þkĒûđŗĂĒk  

(B) ăŖĕûŏ éĈĒŏ, aœônēĀ 

(C) ĀŖĕùŔĐĒ, inŖ 
(D) ĈĒĘĆđ ùĒ ôĀēĘĈđ, ŗăďēŔ 
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13. Which of the following was the broad vision of the last five year plan of the government 
of India? 

(A) Faster, sustainable and more inclusive growth 
(B) Agricultural development led growth 
(C) All round balanced development   
(D) Garibi Hatao 

14. With which of the following was the ‘New Agricultural Strategy’ concerned? 

(A) Increase in the yield per acre of certain specific crops 
(B) Encouragement of multiple cropping 
(C) Use of modern farm practices for specific crops  
(D) All of the above 

15. Which is the first fully organic state in India? 

(A)  Punjab (B) Haryana 
(C) Sikkim (D) Kerala 

16. Which of the following is not true regarding GST compensation? 

(A) The compensation scheme was designed to safeguard the states for any 
difference in the new versus the old tax regime 

(B) The compensation system was envisaged as a buffer to the state’s revenues in 
the eventuality of a fall in tax revenues resulting from a collapse in economic 
growth 

(C) The compensation arrangement was meant to help states ride out the 
differences in the inter-state distribution of GST 

(D) None of the above 

17. What was the main policy under New Economic Policy brought into force since July 
1991? 

(A) Import Substitution Policy  
(B) Monopoly Restriction Policy 
(C) Stabilisation Policy and Structural Reforms Policy 
(D) Foreign Exchange Regulation Act 

18. What is the aim of International Financial Services Centre (IFSC)? 

(A) Facilitate India’s emergence as a preferred jurisdiction for international 
financial services   

(B) Facilitate agriculture sector financing 

(C) Accelerate the growth of banking sector in India 

(D) Maintain balance of payment stability 
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13. inŖđ ïČőėąnĒėn aČďđĀ āŦČtć ādüĒĆĔė÷ ČĒčđĉąđĆ 
íđŋòpđķ üđėċpĈĆĔnČĆĒŔ èüđĻ? 

(A)  ĘČïüĘĆĈĒĆüĔÝ ďĔsĒćČĔÝ íĕ÷ĔüŔ uŕėkđllƧnüĔąđĆ 
ČĊœc 

(B) íđœĎĒí ČĒíďĀÝ ČĊœcėĆ ĀĆĒcƧ 
(C) ďąŗï ďnĔĉĒü ČĒíďĀÝ  
(D) ïćēăĒ ĐøđĘČđ 

14. 'āĔüĒĆ íđœĎĒí üŗnÝ' üđėċpĈĆĔnČĆĒŔ èüĒėĀkĔĈĒcđĻ? 

(A) òĒĉ ŗāĘüŖí ČĒĊíĊƧė÷ èkĈĒėĉ ČĒĊŌ ČœdĀŌ 
(B) onĒĉÿĒíÝ ČĒĊíŕ ĘŗāđtđĐĒpĒkŔ 
(C) ĀĒœdĒƈ ČĒĊíŕkĝ àÿĔĀĒí íđœĎĒí ćēüĒíĊƧė÷ uāĘĆđïÝ  
(D) ąĔíĊĒŔ āĈŧČėĆĉīđÝ 

15. inŖĆĒėĉ àþŖėt āĕœŬ ęôČ ďÝsđĀÝ èüđĻ? 

(A)  āŦđŃ (B) ĐćĒĆđĀ 
(C) ďĒkĒÝ (D) ĘíćĊÝ 

16. ôĒeŏ÷Ē ĀƈāćĒĐđćČĔąđĆĒ ănėpŨĝ üđėċpĈĆĔnČĆĒŔ èüđĻ 
čćĒĆĉī? 

(A)  āĔüĒĆüĔÝ āċĆüĔąđĆ ĀĒíĔüĒ ČŖČsĆĒėĉ ČŖüŖđďtĒŔ 
ĀĒnĝ ďÝsđĀšėĊ ďÝćkĒkĔnüĒĀđĻ ĀƈāćĒĐđć ādüĒíŕ 
ćĕāíŔpĀ ėòņüĒćĒkĔnļ  

(B) ďđmtĒí ČĊœcĆĒėĉ üíœcĆĔė÷ ĂĉąđĆĒ ĀĒíĔüĒ 
ČćĔąđĀtĒŔ i÷ĒŌ ďÝĄČĒkĔn ďđĐòćŖtĒŔ 
ďÝsđĀtĒėn ČćĔąđĀtĒĘĉkĔll oćĔ ăĂĈđĆĒ ĀƈāćĒĐđć 
ďÝČĒÿđĀÝ ČĒĄđČĀÝ ėòņüĔ 

(C) ôĒeŏ÷ĒĆĔė÷ anœ ďÝsđĀ ČĒüćûtĒėĉ ČŖüŖđďšŕ 
ąĈĒí÷kđŒ ďÝsđĀšėĊ ďĐđĆĒkĔí enüđĆĒćĔnĔ 
ĀƈāćĒĐđć ŗíąēíćûtĒėn ĉkŖÝ 

(D) ąĔíĊĒŔ āĈŧČĆĒŔ onĔąĉī 

17. 1991 ôĕęĉ ąĔüŔ āĔüĒĆ ďđmtĒí ĀĆtĒŀ íēċĒĉĔll ŗāÿđĀ ĀĆÝ 
eĘpđċđĻ ŗāđăĉŖtĒŔ Čnļ? 

(A)  iĈkĔąüĒ ŗāüĒĀĒÿđĀ ĀĆÝ  
(B) íĔtí ĀĒĆŗnû ĀĆÝ 
(C) sĒćü ĀĆČĔÝ ð÷ĀđāćąđĆ āćĒŎíćû ĀĆČĔÝ  
(D) ČĒĘþč ČĒĀĒąĆ ĀĒĆŗnû ĀĒĆąÝ 

18. inœĀđĎûŔ ĂĒĀđŒĎŖŔ ďœČēďŏ ėďnĈĒėn (IFSC) ĉkŖÝ enđĻ? 

(A) anđćđŗƈ ÿĀíđćŖ ĘďČĀšŕkĝ aĀĔĘĆđôŖąđĆ oćĔ 
aÿĒíđćāćĒÿĒĆđĆĒ inŖ uĆœnĔČćĔnļ ďĔïąąđkĔí  

(B) íđœĎĒí Ęąîĉņkĝ ÿĀďĐđĆÝ ĀŔíĔí 
(C) inŖĆĒėĉ ăđŠĒÝį ĘąîĉĆĔė÷ ČĊœc üřćĒüėp÷ĔtĔí  
(D) Ęāņėąnĝ ăđĉŒŏ sĒćü ĀĒĉĀĒœtĔí 
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19. Which of the following statement is/are not correct about the Constituent Assembly of 

India? 

(i) Idea of an Indian Constituent Assembly firstly proposed by M.N. Roy.  

(ii) The Cabinet Mission Plan of 1946 recommended for the creation of the constituent 

Assembly. 

(iii) Constituent Assembly first convened on 9th December 1946. 

(iv) Dr. B.R. Ambedkar was appointed as the President of Constituent Assembly. 

(A) Only (i) is correct and (ii), (iii) and (iv) are not correct 

(B) Only (ii), (iii) and (iv) are correct and (i) is not correct 

(C) Only (i), (ii) and (iv) are correct and (iii) is not correct 

(D) Only (i), (ii) and (iii) are correct and (iv) is not correct 

20. Who is the chairperson of 16th Finance Commission of India? 

(A) Dr. Arvind Panagariya (B) Jagadish Bhagavati 

(C)  Shaktikanta Das (D) Nanda Kishore Singh  

21. Which of the following amendment/amendments of Indian Constitution as  

Mini-Constitution? 

(i) 73rd and 74th Amendments 

(ii) 42nd 

(iii) 44th 

(iv) None of the above 

(A)  Only (i) (B) Only (i) and (ii) 

(C) Only (iv) (D) Only (ii) 

22. Which one of the following cases Supreme Court of India ruled on Basic Structure 

Doctrine? 

(A) Minerva Vs Union of India  

(B) Maneka Gandhi vs Union of India on 25 January, 1978 

(C) A.K. Gopalan vs The State of Madras  

(D) Kesavananda Bharati case 
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19. inŖĆĔė÷ Ąćûð÷Āđ aďÝbĒėĆkĔĈĒcĝ üđėċpĈĆĔn ŗāŏüđČĀíĊĒŔ 
èüđĻ čćĒĆĉīđtļ? 

(i)  eÝ.eŒ. ĘĈđņ àþŖÝ ĀĒœĘdčĒc inŖŒ Ąćûð÷Āđ aďÝbĒ en 
àčĆÝ 

(ii) aďÝbĒ ćĕāēíćĒkĔnüĒŀ 1946 ėĉ íđăĒĀƃĝ ąĒĎŒ pđŒ čĔāđœč 
ėòņüĔ 

(iii) 1946 ùĒďÝăœ 9 ŀ Ąćûð÷Āđ aďÝbĒ àþŖąđĆĒ ČĒĊĒcƧĘòœtĔ. 
(iv) Ęùđ. ăĒ.àœ. aÝĘăľíėĈ Ąćûð÷Āđ aďÝbĒĆĔė÷ ŗāďĒùnđĆĒ 

ĀĒĆąĒcƧ. 

 
(A) (i) ąđŗüÝ čćĒĆđĻ, (ii), (iii), (iv) čćĒĆĉī 

(B) (ii), (iii), (iv) ąđŗüÝ čćĒĆđĻ, (i) čćĒĆĉī 

(C) (i), (ii), (iv) ąđŗüÝ čćĒĆđĻ, (iii) čćĒĆĉī  

(D) (i), (ii), (iii) ąđŗüÝ čćĒĆđĻ, (iv) čćĒĆĉī 

20. inŖĆĔė÷ āüĒĀđĈđÝ ÿĀíđćŖ ímēĎėn aÿŖkŒ àćđĻ? 

(A)  Ęùđ. aćČĒnĝ āĀïćĒĆ (B) ôïþēŎ ĄïČüĒ 

(C) čkĒíđn þđŏ (D) Ān íĒĘĎđœ ďĒÝį 

21. ąĒĀĒ-Ąćûð÷Ā en  ĀĒĉĆĒŔ inŖŒ Ąćûð÷ĀĆĒėĉ ĘĄþïüĒíĊĒŔ 
èüđĻ? 

(i) 73, 74 ĘĄþïüĒíŕ 

(ii) 42-Ląėt 

(iii) 44-Ląėt 

(iv) ąĔíĊĒŔ āĈŧČ onĔąĉī 

(A)  (i) ąđŗüÝ (B) (i), (ii) ąđŗüÝ 

(C) (iv) ąđŗüÝ (D) (ii) ąđŗüÝ 

22. üđėċ āĈĆĔn ĘíďĔíĊĒŔ èļ ĘíďđĻ inŖĆĔė÷ ďĔŗāēÝ Ęíđ÷üĒ 
a÷ĒsđĀ ð÷Ā ďĒdđnėtkĔĈĒcĝ ČĒÿĒcĒćĒkĔnļ? 

(A)  ąĒĀœČ vs ĆĕûĒĆŒ ëł inŖ 
(B) ĘąĀí ïđnĒ vs ĆĕûĒĆŒ ëł inŖ 1978 ôĀĔČćĒ 25 

(C) e.ėí. ĘïđāđĉŒ vs þĒ Ęsƃĝ ëł ąŗþđŏ  

(D) ĘíčČđĀn ĄđćüĒ Ęíŏ 
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23. Which Constitution/s India adopted Fundamental Rights and Directive Principles of 
State Policy? 

(i) American and Irish 

(ii) American and USSR 

(iii) British and USA 

(A) American and Irish  

(B) British and USA 

(C) American and USSR  

(D) None of the above 

24. Who described the Directive Principles of State Policy as ‘novel feature’ of the Indian 

Constitution? 

(A)  Jawharlal Nehru (B) Sardar Vallabhbhai Patel 

(C) Dr. Rajendra Prasad (D) Dr. Ambedkar 

25. Which one of the following statements on Citizenship is correct one? 

(i) Right to vote in elections to the Lok Sabha and State legislative assembly is 

applicable to both Indian Citizen and Aliens 

(ii) The Constitution provides right vote in elections to the Lok Sabha and State 

Legislative Assembly only to Indian Citizens and denies this right to Aliens 

(A) Statement (i) is true  

(B) Statement (i) and (ii) is true 

(C) Statement (ii) is true  

(D) Both statements are not correct 

26. A command issued by the Supreme Court or High Court India to produce a person before 

the court who illegally detained by the state or any other authority? 

(A) Habeas corpus  

(B) Mandamus 

(C) Certiorari  

(D) Quo Warranto (D D Basu P 137) 
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23. èļ Ąćûð÷ĀĆđĻ inŖ ďÝsđĀ ĀĆtĒėn ąĞĉĒíđČíđčšĊƧÝ 
ĀĒœĘdčí üüřšĊƧÝ aÝïēíćĒcļ? 

(i) aĘąćĒkĆĔÝ éĈĒĎĔÝ 

(ii) aĘąćĒkĆĔÝ ĆĔ.eŏ.eŏ.àĈĔÝ 

(iii) ŗăĒŨēĎĔÝ ĆĔ.eŏ.eĆĔÝ 

(A)  aĘąćĒkĆĔÝ éĈĒĎĔÝ  

(B) ŗăĒŨēĎĔÝ ĆĔ.eŏ.eĆĔÝ 

(C) aĘąćĒkĆĔÝ ĆĔ.eŏ.eŏ.àĈĔÝ 

(D) ąĔíĊĒŔ āĈŧČ onĔąĉī 

24. ďÝsđĀ ĀĆtĒėn ĀĒœĘdčí üüřšėĊ inŖŒ Ąćûð÷ĀĆĔė÷ 'ĘĀđČŔ 
Ăēcœ' enĝ ČĒĘčĎĒpĒcļ àćđĻ? 

(A)  ôČĐœ ĉđŔ ėĀŐĈĔ (B) ďœþđœ ČĉīĄđņ āĘŨŔ 

(C) Ęùđ. ćđĘôŗn ŗāďđľ (D) Ęùđ. aÝĘăľíœ 

25. āĞćüřėtkĔĈĒcƧll üđėċpĈĆĔn ŗāŏüđČĀíĊĒŔ èüđĻ čćĒ? 

(i)  ĘĉđĭďĄĆĒĘĉkĔÝ ďÝsđĀ ĀĒĆąďĄĆĒĘĉkĔąĔll üĒćėŧ÷ĔpƧíĊĒŔ 
ĘČđŨČíđčÝ inŖŒ āĞćĀĔÝ ČĒĘþčĒíŕkĔÝ ăđÿíąđĻ 

(ii)  ĘĉđĭďĄĆĒĘĉkĔÝ ďÝsđĀ ĀĒĆąďĄĆĒĘĉkĔąĔll üĒćėŧ÷ĔpƧíĊĒŔ 
ĘČđŨČíđčÝ inŖŒ āĞćnđœkĝ ąđŗüĘą Ąćûð÷Ā ĀŔíĔnĔllƨ, 
ČĒĘþčĒíŕkĝ â aČíđčÝ ĀĒĘĎÿĒkĔnĔ 

(A) ŗāŏüđČĀ (i) čćĒĆđĻ  

(B) ŗāŏüđČĀ (i), (ii) čćĒĆđĻ 

(C) ŗāŏüđČĀ (ii) čćĒĆđĻ  

(D) ćŪĝ ŗāŏüđČĀíĊƧÝ čćĒĆĉī 

26. ďÝsđĀĘąđ ąĘƃėüŠĒĉĔÝ aĘüđĈĒƃĒĘĆđ ĀĒĆąČĒćĔdąđĆĒ ü÷ŠĉĒŔ 
ČcĒćĒkĔn oćđėĊ Ęíđ÷üĒĆĒŔ ĐđôćđkđŒ ďĔŗāēÝ Ęíđ÷üĒĘĆđ 
ęĐĘkđ÷üĒĘĆđ āĔĈėp÷ĔČĒc oćĔ utćŌ : 

(A) ĘĐăĒĆŏ Ęíđœpŏ  

(B) ąđŒùąŏ 

(C) ėďœŨĒĘĆđĈĈĒ  

(D) Ęířđ ČđĈĘnđ (ùĒ ùĒ ăďĔ āĒ 137) 
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27. An institution to oversee the functioning of Local Self Government Institutions in Kerala 

is  

(A) Lokayukta (B) Kerala High Court 

(C) Ombudsman (D) Lokpal  

28. Which one of the following is/are Government of Kerala undertaking to generate more 

employment opportunities in foreign countries for jobs seekers in and out of state? 

(i) Overseas Development and Employment Promotion Consultants (ODEPC) Ltd. 

(ii) NoRKA 

(A)  Option (ii) only (B) Option (i) only 

(C) Option (i) and (ii) only (D) None of the above 

29. Which year Mahathma Gandhi National Rural Employment Guarantee Scheme fully 

implemented in Kerala? 

(A)  02.02.2006 (B) 01.04.2007 

(C) 01.04.2008 (D) None of the above 

30. The online consultation programme of Kerala Women and Child Department for women 

commenced in February 2021 aimed at resolving their various issues through counseling 

legal aid and police assistance is 

(A) Aswasanidhi (B) Bhoomika 

(C) Kathorth (D) One Stop Centres 

31. The plan monitoring software developed by Information Kerala Mission for Local Self 

Government Department of Govt. of Kerala for the formulation and monitoring of the 

annual decentralized plan projects of local governments is 

(A) Sulekha (B) Sanchaya 

(C) Sugama (D) Samvedhitha 

32. Who is the present Chairman of Kerala State Disaster Management Authority? 

(A) Dr. V. Venu IAS (B) Sri. Pinarai Vijayan 

(C) Sri. K. Rajan (D) Smt. Tinku Biswal IAS 
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27. ĘíćĊtĒėĉ üĘdč ďřĆÝĄćû sđāĀšĊƧė÷ ŗāČœtĀÝ 
ĀĒćēkĒkĔnüĒĀĔll oćĔ sđāĀąđĻ : 

(A)  ĘĉđíđĆĔk (B) ĘíćĊ ęĐĘkđ÷üĒ 
(C) ëÝăĔĹŏąđŒ (D) ĘĉđĭāđŔ 

28. ďÝsđĀtĒĀítĔÝ āĔĈtĔąĔll ėüđċĒĉĘĀřĎíœkĝ ČĒĘþč ćđôŖšĊĒŔ 
íĕ÷ĔüŔ ėüđċĒĉČďćšŕ ďĖƈĒkĔnüĒĀđĆĒ ĘíćĊ ďœkđœ 
üđėċpĈĆĔnČĆĒŔ èüđĻ èœėp÷ĔtĔnļ? 
(i) ëČœďēŏ ėùČĉŁėąnĝ àŒĹ eÝĘpđņėąnĝ ėŗāđĘąđĎŒ  
 íőďŕŨnĝŏ (oùĒiāĒďĒ) ĉĒąĒƃĹ 
(ii)  ĘĀđœk 

(A)  ëŁĎŒ (ii) ąđŗüÝ (B) ëŁĎŒ (i) ąđŗüÝ 

(C) ëŁĎŒ (i), (ii) ąđŗüÝ (D) ąĔíĊĒŔ āĈŧČ onĔąĉī 

29. ąĐđtđïđnĒ ĘþčēĆ ŗïđąēû ėüđċĒĉĔĈpĝ ādüĒ ĘíćĊtĒŔ āĕœŬąđĆĒ 
Ā÷pĒĉđkĒĆ ČœĎÝ? 

(A)  02.02.2006 (B) 01.04.2007 
(C) 01.04.2008 (D) ąĔíĊĒŔ āĈŧČ onĔąĉī 

30. íĞőďĒĉĒÝį ĀĒĆąďĐđĆtĒĉĕė÷ĆĔÝ Ęāđĉēŏ ďĐđĆtĒĉĕė÷ĆĔÝ 
aČćĔė÷ ČĒČĒÿ ŗāōĀšŕ āćĒĐćĒkĔí en ĉkŖĘtđė÷ 2021 
ėĂŗăĔČćĒĆĒŔ àćÝĄĒc ČĀĒüđ čĒčĔĘką ČíĔpĒėn ëőęĉŒ 
íőďŕĘŨĎŒ āćĒāđ÷Ē : 

(A)  àčřđďĀĒÿĒ (B) ĄĕąĒí 

(C) íđĘüđœtĝ (D) Čő Ęsđpĝ ėďnĈĔíŕ 

31. üĘdč ďřĆÝĄćû sđāĀšĊƧė÷ ČđœĎĒí ČĒĘíŗnēíĖü ādüĒ 
ādüĒíĊƧė÷ ćĕāēíćûtĒĀĔÝ ĀĒćēkûtĒĀĔąđĆĒ ĘíćĊ ďœkđœ 
ČíĔpĒĀđĆĔll iŒĂœĘąĎŒ ĘíćĊ ąĒĎŒ ČĒíďĒpĒėc÷Ĕt ādüĒ 
ĀĒćēkû Ęďđłƃĝ ėČĆœ : 

(A)  ďĔĘĉî (B) ďŦĆ 

(C) ďĔïą (D) ďÝĘČþĒü 

32. ĘíćĊ ďÝsđĀ þĔćn ĀĒČđćû aĘüđĈĒƃĒĆĔė÷ iĘpđċėt ėòĆœąđŒ 
àćđĻ? 

(A)  Ęùđ. ČĒ. ĘČûĔ é.e.eŏ  

(B) ŗčē. āĒûĈđĆĒ ČĒôĆŒ 

(C) ŗčē. ėí. ćđôŒ  

(D) ŗčēąüĒ ÷ĒŠĔ ăĒďřđŕ é.e.eŏ 
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33. The disease caused by deficiency of Vitamin D is : 

(A) Scurvy (B) Rickets 

(C) Beriberi (D) Pellagra 

34. The causative organism of Chicken pox is a : 

(A) Virus (B) Bacteria 

(C) Fungus (D) Protozoa 

35. A scheme under Govt. of Kerala for Organ donation is : 

(A) Jeevadayini (B) Sukritham 

(C) Bhoomika (D) Mrithasanjeevani 

36. The enzyme which helps in protein digestion in humans : 

(A) Sucrase (B) Lipase 

(C) Trypsin (D) Maltase 

37. The Nobel prize in Medicine 2024 was awarded to 

(A) Katalin Kariko and Drew Weissman   

(B) Victor Ambros and Gary Ruvkun 

(C) Svante Paabo   

(D) David Julius and Ardem Patapoutian 
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33. ČĒƃđąĒŒ D ĆĔė÷ aāćŖđŁüüąĕĉÝ uŪđíĔn aďĔîąđĻ : 

(A)  ŏíœČĒ (B) ĈĒkƃĝŏ 

(C) ėăĈĒėăĈĒ (D) ėāĉīđŗï 

34. òĒkŒĘāđĭďĒėn ĘćđïíđćĒ oćĔ ___________ àĻ. 

(A) ęČĈŏ (B) ăđĭ÷ēćĒĆ 

(C) ĂÝïŏ (D) ĘŗāđĘŨđĘďđČ 

35. ĘíćĊ ďœkđĈĒėn ĀĒĆŗnûtĒĉĔll oćĔ aČĆČþđĀ ādüĒ àĻ : 

(A)  ôēČþđĆĒĀĒ (B) ďĔíĖüÝ 

(C) ĄĕąĒí (D) ąĖüďĶôēČĀĒ 

36. ąĀĔĎŖĀĒŔ ĘŗāđŨēėn þĐĀtĒŀ ďĐđĆĒkĔn eŒęďÝ : 

(A)  ďĔĘŗíŏ (B) ĉĒĘpŏ 

(C) ŗ÷ĒŁďĒŒ (D) ąđŕĘŨŏ 

37. 2024 ėĉ ęČþŖčđŏŗü ĘĀđăŔ āĔćŏíđćÝ ĘĀ÷ĒĆļ : 

(A)  íƃđĉĒŒ íćĒĘkđ, ŗùĕ ęČŏąđŒ 

(B) ČĒĭ÷œ àÝĘŗăđŏ, ïđćĒČĔŌíő 

(C) ďřđėn āđĘăđ  

(D) ĘùČĒĹ ôĕĉĒĆŏ, àœùÝ āŨđāĞŨĒĆđŒ  
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38. According to Einstein, in the photoelectric effect, 

(A) Part of the energy of the incident photon is used to eject the electron from the 

metal surface and the remaining energy is converted into heat energy 

(B) The entire energy of the incident photon is converted into the kinetic energy 

of the ejected electron  

(C) Part of the energy of the incident photon is used to eject the electron from the 

metal surface and the remaining energy is converted into the potential energy 

of the ejected electron  

(D) Part of the energy of the incident photon is used to eject the electron from the 

metal surface and the remaining energy is converted into the kinetic energy 

of the ejected electron 

39. In which direction does a body always move? 

(A) In the direction of its velocity    

(B) Opposite to the direction of its velocity  

(C) Perpendicular to the direction of its velocity  

(D) Can be in any direction as (A), (B) or (C) 

40. The refractive index of the material of a given glass plate : 

(A) Depends on the angle of incidence of light used 

(B) Depends on the intensity of the light used 

(C) Depends on the wavelength of light used 

(D) Is a constant 

41. The Indian Space Research Organisation (ISRO) successfully launched the EOS-08 

Earth Observation Satellite on : 

(A) 1 January 2024 (B) 16 August 2024 

(C) 17 February 2024 (D) 22 July 2024 
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38. éŒsēėn aĄĒŗāđĆtĒŔ, ĘĂđĘŨđiĉĭŗ÷Ēĭ iĂĭƃĒŔ : 

(A)  iŒďĒùnĝ ĘĂđĘŨđûĒėn äœjtĒėn oćĔ ĄđïÝ ĘĉđĐ 
ŗāüĉtĒŔ ĀĒnĝ iĉĭĘŗ÷đûĒėĀ āĔĈnllđŒ uāĘĆđïĒkĔnĔ, 
ĘčĎĒkĔn äœjÝ üđā äœjąđĆĒ āćĒČœtĀÝ ėòyėp÷ĔnĔ 

(B) iŒďĒùnĝ ĘĂđĘŨđûĒėn ąĔċĔČŒ äœjČĔÝ āĔĈnllėpŨ 
iĉĭĘŗ÷đûĒėn ïüĒĘíđœjąđĆĒ āćĒČœtĀÝ ėòyėp÷ĔnĔ 

(C) iŒďĒùnĝ ĘĂđĘŨđûĒėn äœjtĒėn oćĔ ĄđïÝ ĘĉđĐ 
ŗāüĉtĒŔ ĀĒnĝ iĉĭĘŗ÷đûĒėĀ āĔĈnllđŒ uāĘĆđïĒkĔnĔ, 
ĘčĎĒkĔn äœjÝ āĔĈnllėpŨ iĉĭĘŗ÷đûĒėn ėāđŨŒĎŖŔ 
eĀœôĒĆđĆĒ āćĒČœtĀÝ ėòyėp÷ĔnĔ  

(D) iŒďĒùnĝ ĘĂđĘŨđûĒėn äœjtĒėn oćĔ ĄđïÝ ĘĉđĐ 
ŗāüĉtĒŔ ĀĒnĝ iĉĭĘŗ÷đûĒėĀ āĔĈnllđŒ uāĘĆđïĒkĔnĔ, 
ĘčĎĒkĔn äœjÝ āĔĈnllėpŨ iĉĭĘŗ÷đûĒėn 
ïüĒĘíđœjąđĆĒ āćĒČœtĀÝ ėòyėp÷ĔnĔ 

39. oćĔ ČŏüĔ eĘpđċĔÝ èļ þĒčĆĒĘĉkđĻ ĀēšĔnļ? 

(A)  aüĒėn ĘČïüĆĔė÷ þĒčĆĒŔ  

(B) aüĒėn ĘČïüĆĔė÷ þĒčņkĝ eüĒœČčtđĆĒ 

(C) aüĒėn ĘČïüĆĔė÷ þĒčņkĝ ĉÝăąđĆĒ 

(D) (A), (B) aėĉīŠĒŔ (C) enĒšėĀ èļ þĒčĆĒĉĔÝ àíđÝ 

40. ĀŔíĒĆĒćĒkĔn gđŏ ĘpƃĒėn ČŏüĔČĒėn aāČœtĀ ďĕòĒí : 

(A)  uāĘĆđïĒkĔn ŗāíđčtĒėn ďÝĄČ ĘíđûĒėĀ 
àŗčĆĒcĒćĒkĔnĔ 

(B) uāĘĆđïĒkĔn ŗāíđčtĒėn üēŗČüėĆ àŗčĆĒcĒćĒkĔnĔ 

(C) uāĘĆđïĒkĔn ŗāíđčtĒėn üćÝïęþœðŖėt àŗčĆĒcĒćĒ 
kĔnĔ  

(D) oćĔ sĒćđŠąđĻ 

41. inŖŒ ăĐĒćđíđč ïĘČĎû ďÝð÷Ā (éeŏàœo) EOS-08 ĄĞą 
ĀĒćēkû uāŗïĐÝ ČĒôĆíćąđĆĒ ČĒĘkāĒcļ : 

(A) ôĀĔČćĒ 1, 2024 (B) ëïsĝ 16, 2024 

(C) ėĂŗăĔČćĒ 17, 2024 (D) ôĕęĉ 22, 2024 
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42. Which of the following shows the correct order of elements in the periodic table based on 

increasing atomic number? 

(A) Sodium, Magnesium, Aluminium, Silicon, Phosphorous 

(B) Magnesium, Aluminium, Phosphorous, Sodium, Silicon 

(C) Sodium, Aluminium, Silicon, Phosphorous, Magnesium 

(D) Aluminium, Phosphorous, Silicon, Sodium, Magnesium 

43. Graphite is a _________ of carbon. 

(A) Isotope  

(B) Isobar 

(C) Alloy  

(D) Allotrope 

44. The pressure at which a liquid’s vapour pressure equals atmospheric pressure is called : 

(A) Freezing point  

(B) Melting point 

(C) Boiling point  

(D) Condensation point 

45. Which recently discovered element source in India is crucial for the future of electric 

vehicles? 

(A) Uranium  

(B) Lithium 

(C) Cobalt  

(D) Graphite 
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42. üđėċ āĈĆĔnČĆĒŔ àƃąĒĭ Āmœ ČœdĀČĒėn a÷ĒsđĀtĒŔ 

āĒćĒĆùĒĭ Ę÷ăĒĊĒėĉ ąĕĉíšĊƧė÷ čćĒĆđĆ ŗíąÝ èüđĻ? 

(A)  ĘďđùĒĆÝ, ągēĎŖÝ, aĉĔąĒĀĒĆÝ, ďĒĉĒkő, ĘĂđŏĂĈŏ  

(B) ągēĎŖÝ, aĉĔąĒĀĒĆÝ, ĘĂđŏĂĈŏ, ĘďđùĒĆÝ, ďĒĉĒkő 

(C) ĘďđùĒĆÝ, aĉĔąĒĀĒĆÝ, ďĒĉĒkő, ĘĂđŏĂĈŏ, ągēĎŖÝ  

(D) aĉĔąĒĀĒĆÝ, ĘĂđŏĂĈŏ, ďĒĉĒkő, ĘďđùĒĆÝ, ągēĎŖÝ 

43. ŗïđęĂƃĝ íđœăûĒėn oćĔ _________ àĻ. 

(A)  éĘďđĘ÷đpĝ  

(B) éĘďđăđœ 

(C) aĘĉđņ  

(D) aĘĉđĘŗ÷đpĝ 

44. oćĔ ŗþČtĒėn ČđüíąœdÝ anćēkąœdtĒĀĔ üĔĉŖąđĆĒćĒkĔn 

üđāĀĒĉėĆ enĝ āĈĆĔnĔ? 

(A)  ŗĂēďĒı ĘāđĆĒnĝ  

(B) ėąŔƃĒÝį ĘāđĆĒnĝ 

(C) ĘăđĆĒĉĒı ĘāđĆĒnĝ  

(D) íėŪŒĘďĎŒ ĘāđĆĒnĝ 

45. inŖĆĒŔ a÷ĔtĒė÷ íėŪtĒĆüĔÝ iĉĭŗ÷Ēĭ ČđĐĀšĊƧė÷ ĄđČĒkĝ 

ĀĒœŬđĆíČĔąđĆ ąĕĉí uĈČĒ÷Ý èüđĻ? 

(A) ĆĔĘĈĀĒĆÝ  

(B) ĉĒýĒĆÝ 

(C) ĘíđăđŕŨĝ  

(D) ŗïđęĂƃĝ 
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46. How many runs did Virat Kohli score in Test Cricket before retiring? 

(A) 8450 (B) 9230 

(C) 9010 (D) 8895 

47. What is the name of the new capital city being developed in Indonesia? 

(A) Jakarta (B) Bali 

(C) Nusantara (D) Surabaya 

48. Which Buddhist art form, recently in the news, is made using a fixed grid called “sor,” 

where the drawing and coloring must follow set rules without any changes? 

(A) Madhubani (B) Thangka 

(C) Pattachitra (D) Kalamkari 

49. Where are the Gamburtsev Mountains located? 

(A) Under the Arctic Ocean  

(B) Beneath the Sahara Desert 

(C) Under the East Antarctic Ice Sheet  

(D) In the Andes Mountains 

50. Which hypothesis suggests that poor nutrition during foetal development can lead to 

long-term changes in metabolism and organ function, increasing the risk of adult 

diseases such as type 2 diabetes and hypertension? 

(A) Germ Theory  

(B) Barker Hypothesis 

(C) Miasma Theory  

(D) Central Dogma 
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46. ČĒćąĒkĔnüĒŀ ąĔmĝ ČĒćđķ ĘíđĉĒ ė÷sĝ ŗíĒkƃĒŔ eŗü Ĉőŏ ĘĀ÷Ē? 

(A)  8450 (B) 9230 

(C) 9010 (D) 8895 

47. iĘnđĘĀĎŖĆĒŔ ČĒíďĒpĒcƧėíđŪĒćĒkĔn āĔüĒĆ üĉsđĀ ĀïćtĒėn 
ĘāėćnđĻ? 

(A)  ôkđœt (B) ăđĉĒ 

(C) ĀĔďnđć (D) ďĔćăđĆ 

48. âĆĒė÷ ČđœtíĊĒŔ Čn ăĔdąü íĉđćĕāÝ, "Ęďđœ" enĝ 
ČĒĊĒkėp÷Ĕn oćĔ ĀĒƆĒü ŗïĒĹ uāĘĆđïĒcđĻ ĀĒœmĒcĒćĒkĔnļ, 
aČĒė÷ ĘŗùđĆĒÝïĔÝ íĊĈĒÝïĔÝ oćĔ ąđƃČĔąĒĉīđėü ĉĒîĒü ĀĒĆąšŕ 

āđĉĒkûÝ : 

(A)  ąÿĔăđĀĒ (B) üŠ 

(C) āŨòĒŗü (D) íĉÝíđćĒ 

49. ïđÝăĔœŨĝėďŌ āœČüĀĒćíŕ eČĒė÷ĆđĻ sĒüĒ ėòyƧnļ? 

(A)  àœŨĒĭ ďąĔŗþtĒŀ íēċĒŔ  

(B) ďĐđĈ ąćĔĄĕąĒkĝ üđėċ 

(C) íĒċkŒ anđœŨĒkĝ éŏ ĎēƃĒŀ íēċĒŔ 

(D) àŒùēŏ āœČüĀĒćíĊĒŔ 

50. ïœĄāĒūtĒėn ČĒíđďtĒėĉ ĘąđčÝ ĘāđĎíđĐđćÝ, 
ėąƃđĘăđĊĒďtĒĉĔÝ aČĆČšĊƧė÷ ŗāČœtĀtĒĉĔÝ þēœðíđĉ ąđƃ 

šŕkĝ íđćûąđíĔėąnĔÝ ę÷pĝ 2 ŗāĘąĐÝ, ćkđüĒąœdÝ üĔ÷šĒĆ Ęćđï 
šĊƧė÷ aāí÷ďđÿŖü ČœdĒpĒkĔėąnĔÝ èļ ďĒdđnÝ ďĕòĒpĒkĔnĔ?  

(A) ėôÝ ďĒdđnÝ  

(B) ăđœkœ ďĒdđnÝ 

(C) ąĒĆđŏą ďĒdđnÝ  

(D) ėďŒŗ÷Ŕ Ęùđg 
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51. A man buys a field of agricultural land for Rs. 4,20,000. He sells one-third at a loss of 

20% and two-fifths at a gain of 25%. At what price must he sell the remaining field so as 

to make an overall profit of 10% : 

(A)  1,40,000 (B) 1,20,000 

(C)  1,00,000 (D) 1,50,000 

52. A group has boys and girls in the ratio 8 : 5. If one boy and three girls join in, the ratio 

becomes 3 : 2. Find the number of girls originally in the group. 

(A) 15 (B) 28 

(C) 42 (D) 35 

53. 40 persons can repair a bridge in 15 days working 8 hours a day. In how many days will 

30 persons working 10 hours a day complete the work? 

(A)  15 (B) 16 

(C) 10 (D) 12 

54. The width of the path around a square field is 3.5 m and its area is 105 m2. Find the cost 

of fencing the field at the rate of Rs. 80 per meter. 

(A)  1240 (B) 1200 

(C) 1280 (D) 1260 

55. The sum of all odd integers between 10 and 100 divisible by 3 is : 

(A) 845 (B) 867 

(C) 876 (D) 855 
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51. oćđŕ oćĔ íĖĎĒĄĕąĒ 4,20,000 ćĕāņkĝ ČđšĔnĔ. ąĕnĒėĉđnĝ ĄđïÝ 20% 

ĀƈtĒĉĔÝ aŦĒŔ ćŪĝ ĄđïÝ 25% ĉđĄtĒĉĔÝ ČĒŔkĔnĔ. 10% ėąđtÝ 
ĉđĄÝ ĉĄĒkđŒ ăđkĒĆĔll sĉÝ eŗü ČĒĉņkĝ ČĒŔkûÝ? 

(A)  1,40,000 (B) 1,20,000 

(C)  1,00,000 (D) 1,50,000 

52. oćĔ ŗïĕpĒŔ 8 : 5 en aĀĔāđütĒŔ àőíĔŨĒíĊƧÝ ėāőíĔŨĒíĊƧÝ uŪĝ. 

oćĔ àőíĔŨĒĆĔÝ ąĕnĝ ėāőíĔŨĒíĊƧÝ ĘòœnđŔ, aĀĔāđüÝ 3 : 2 àĆĒ 

ąđĈĔnĔ. ŗïĕpĒėĉ Ćýđœt ėāőíĔŨĒíĊƧė÷ eŬÝ íėŪtĔí : 

(A) 15 (B) 28 

(C) 42 (D) 35 

53. 40 Ęāœ þĒČďtĒŔ 8 ąûĒkĕœ ĘôđĉĒ ėòņļ  
15 þĒČďtĒĀĔllĒŔ oćĔ āđĉÝ ĀnđkđŒ íċĒĆĔÝ. 30 Ęāœ oćĔ þĒČďÝ 

10 ąûĒkĕœ ĘôđĉĒ ėòyƧíĆđėûŠĒŔ eŗü þĒČďÝ ėíđŪĝ ĘôđĉĒ 
āĕœtĒĆđkĔÝ? 

(A)  15 (B) 16 

(C) 10 (D) 12 

54. oćĔ òüĔćđíĖüĒĆĒĉĔll ČĆĉĒŀ òĔƃƧąĔll āđüĆĔė÷ ČēüĒ 3.5 ąēƃĈĔÝ 

aüĒėn ČĒŏüēœŬÝ 105 ąē.2 uÝ àĻ. ąēƃĈĒŀ 80 ćĕā ĀĒćkĒŔ 

ČĆĉĒŀ ĘČĉĒ ėíŨƧnüĒĀĔll ėòĉŌ íėŪtĔí : 

(A)  1240 (B) 1200 

(C) 1280 (D) 1260 

55. 10 ĀĔÝ 100 ĀĔÝ i÷ĆĒĉĔll eĉīđ oƃ ďÝîŖíĊƧė÷ĆĔÝ àėítĔíėĆ  

3 ėíđŪĝ ĐćĒkĔĘmđŕ íĒŨƧnļ : 

(A) 845 (B) 867 

(C) 876 (D) 855 
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56. In a certain code FOUR is written as 24, then how will FIVE be written in the same 

code? 

(A) 42 (B) 32 

(C)  24 (D) 27 

57. Pointing to a girl in the photograph, Sanal said, “Her mother’s brother is the only son of 

my mother’s father.” How is the girl’s mother related to Sanal? 

(A)  Aunt (B) Mother 

(C) Sister (D) Grandmother 

58. If Thursday falls on 10th December 1981, what day of the week will fall on  

10th December 1991? 

(A)  Monday (B) Saturday 

(C) Friday (D) Tuesday 

59. A man walks 4 km towards south and then turns to the right. After walking 3 km he 

turns to the left and walks 4 km. And then he goes back 9 km straight. Now in which 

direction is he from the starting place? 

(A) South (B) West 

(C) South- East (D) North - West 

60. If the reflection in a mirror of a 12-hours clock shows 2 : 35, what will be the original 

time? 

(A)  10 : 25 (B) 9 : 25 

(C) 10 : 35 (D) 9 : 35 
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56. oćĔ ŗāĘüŖí ĘíđùĒŔ FOUR enļ 24 enĝ eċĔüĒĆĒŨƧėŪŠĒŔ, aĘü 

ĘíđùĒŔ FIVE ešėĀ eċĔüėp÷ĔÝ? 

(A) 42 (B) 32 

(C) 24 (D) 27 

57. ĘĂđĘŨđĆĒėĉ oćĔ ėāőíĔŨĒėĆ òĕŪĒ ďĀŔ āĈŧĔ, "aČĊƧė÷ amĆĔė÷ 

ďĘĐđþćŒ eėn amĆĔė÷ acėn èí ąíĀđĻ." ėāőíĔŨĒĆĔė÷ am 

ďĀĉĔąđĆĒ ešėĀ ănėpŨĒćĒkĔnĔ? 

(A)  amđĆĒ (B) am 

(C) ďĘĐđþćĒ (D) ąĔtƇĒ 

58. 1981 ùĒďÝăœ 10 ŀ ČŖđċđŋò àėûŠĒŔ, àŋòĆĒėĉ èļ 

þĒČďąđĆĒćĒkĔÝ 1991 ùĒďÝăœ 10? 

(A)  üĒŠĊđŋò (B) čĀĒĆđŋò 

(C) ėČllĒĆđŋò (D) ėòđvđŋò 

59. oćđŕ ėüĘkđŨĝ 4 íĒĘĉđąēƃœ Ā÷nĝ ČĉĘtkĝ üĒćĒĆĔnĔ. 3 íĒĘĉđąēƃœ 

Ā÷n ĘčĎÝ aĆđŕ i÷Ętkĝ üĒćĒŧĝ 4 íĒĘĉđąēƃœ Ā÷kĔnĔ. üĔ÷œnĝ 

aĆđŕ 9 íĒĘĉđąēƃœ ĘĀėć üĒćĒėí ĘāđíĔnĔ. iĘpđŕ aĆđŕ àćÝĄ 

sđĀtĝ ĀĒnĝ èļ þĒčĆĒĉđĻ? 

(A)  ėükĝ (B) ā÷Ēŧđň 

(C) ėükĝ-íĒċkĝ (D) Č÷kĝ–ā÷Ēŧđň 

60. 12 ąûĒkĕœ ĘkđkĒėn íŬđ÷ĒĆĒėĉ ŗāüĒĂĉĀÝ 2 : 35 íđûĒkĔnĔėČŠĒŔ, 

Ćýđœt ďąĆÝ enđĆĒćĒkĔÝ? 

(A)  10 : 25 (B) 9 : 25 

(C) 10 : 35 (D) 9 : 35 
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61. He abdicated his throne ––––––––––– his eldest son.  

Fill in the blank space using a phrase preposition 
(i) for 
(ii) in reference to 
(iii) in favour of 
(iv) none of these 

(A)  (ii) (B) (i) 
(C) (iv) (D) (iii) 

62. Locate the meanings of the idioms from the options given below. 
(a) at my fingers’ ends 
(b) with a high hand 
(i) on very intimate terms, undaunted by anything 
(ii)  know it thoroughly, oppressively 
(iii) used utmost efforts, disorder 
(iv) none of the above 

(A)  (i) (B) (iii) 
(C) (ii) (D) (iv) 

63. Insert suitable articles. 

The two friends agreed to differ _____________ discussing the question ––––––––––– 
about an hour. 
(i) at, in 
(ii) for, after 
(iii) in, at 
(iv) after, for 

(A) (i) (B) (iii) 
(C)  (iv) (D) (ii) 

64. Identify the correct spelling from below. 
(i) acquiesce 
(ii) acqiuesce 
(iii) acqiuiesce 
(iv) acquisce 

(A)  (ii) (B) (iv) 
(C)  (iii) (D) (i) 

65. Select the antonym of ‘stubborn’ from the following. 
(i) tenacious 
(ii) biddable 
(iii) intransigent 
(iv) none of these 

(A)  (iv) (B) (i)  

(C) (ii) (D) (iii) 
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66. Identify the Synonym of Consanguineous 
(i) Contagious disease 
(ii) Unresponsiveness 
(iii) Of the same blood or origin 
(iv) None of these 

(A) (ii) (B) (i) 

(C)  (iv) (D) (iii) 

67. One word for extreme fear of ghosts and other supernatural beings. 
(i) tomophobia 
(ii) ophiophobia 
(iii) phasmophobia 
(iv)  nyctophobia 

(A)  (iv) (B) (iii) 

(C) (ii) (D) (i) 

68. He inquired whether his name was not Ahmed. 

Change into direct speech 
(i) He said, “Is your name Ahmed?” 
(ii) He said to him, “Are you Ahmed?” 
(iii) He said to him, “Is not your name Ahmed?” 
(iv) None of these 

(A) (ii) (B) (iii) 

(C)  (iv) (D) (i) 

69. Choose the correct answer. 

The guidance, as well as the love of a mother, ––––––––––– wanting. 
(i) was 
(ii) has 
(iii) were 
(iv) none of these 

(A)  (ii) (B) (iv) 

(C) (i) (D) (iii)  

70. If only I were young again! 

Change the above exclamatory sentence into assertive sentence  
(i) I want to be young again. 
(ii) I wish I were young again. 
(iii) I wish I was young again 
(iv) none of these 

(A)  (ii) (B) (i) 

(C)  (iii) (D) (iv) 
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71. The reason for expressing the speed of a computer in the unit of Hertz is that : 

(A)  The average of both bridge controllers switching speeds per second 

determines speed 

(B) North Bridge controller switching frequency determines it 

(C) South Bridge controllers switching frequency determines it 

(D) It’s the number of clock pulses per second generated by the clock generator 

72. After a reset signal obtained by the computer , the program counter or the instruction 

pointer is loaded with : 

(A) The starting address of ROM 

(B) The initial address of harddisk track 0, sector 0 

(C)  The initial address of harddisk track 0, sector 1 

(D) The starting address of L1 cache memory 

73. Which statement of the following is correct in the descending order of access time? 

(A)  Registers, RAM, ROM, Harddisk 

(B) ROM, RAM, Registers, Harddisk 

(C) Harddisk, ROM, RAM, Registers 

(D) Harddisk, RAM,ROM, Registers 

74. Hexadecimal numbers are used by : 

(A) Computers to represent memory location addresses 

(B) Computers to represent data in memory locations 

(C) Computers to represent data and address of memory 

(D) By human to easily represent large binary combinations 
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75. Unicode systems : 

(A)  16 bit code and can represent 65536 characters 

(B) support data exchange internationally 

(C)  be said as the only code used by Java only  

(D) represent all characters in word 

76. “Let it appear here also as there” , Which function in MS word offers this? 

(A) Conditional formatting (B) Highlighter 

(C) Format Painter (D) Paste special 

77. “Save as” option in the menu 

(A) Saves a file always  

(B) Get copies of file always 

(C)  Get a copy of file if different filename is given  

(D) Saves the file first time and get a copy of file if different name is given second 
time 

78. Pressing Ctrl key and right arrow in excel will : 

(A) Move the value in current cell to next cell 

(B) Cursor is transferred to last column 

(C) Increments the value of current cell by one 

(D) Just moves the cursor to next empty column in right side 

79. Circular reference is occurred in Excel during 

(A)  Same cell address is referred in the cell’s equation 

(B) Value loss due to use of format cells usage 

(C)  Adjacent columns are referred in an equation 

(D) Protected cells are a part of the given equation 
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80. In a powerpoint presentation, I would like to control the order of the slides which are 
presented one by one. Which feature can be used? 

(A)  Slideshow (B) Rehearse timings 

(C) Custom slideshow (D) Change slide number 

81. Data abstraction in C++ is implemented in the language using the keywords : 

(A)  class, object (B) private, public 

(C)  abstract , void (D) abstract, protected 

82. The value of c after executing the expression, float c = 3 + 5/2 + 7/2 : 

(A) 9.0 (B) 5.5 

(C) 8.0 (D) 7.0 

83. The usage CLR in VB.NET refers to 

(A)  Clear the screen at once  

(B) Common Language Runtime 

(C) Clear Language Routines 

(D) Console reset for restart 

84. Which one of the following is correct usage in VB.NET? 

(A) Console.Writeline(“The answer obtained is”, ans) 

(B) Console.Writeline(“The answer obtained is %d”, ans) 

(C) Console.Writeline(“The answer obtained is {0}”, ans) 

(D) Console.WriteLine(“The answer obtained is {0}”, ans) 

85. A database designer has created two tables namely product and stock and he wants to 
restrict the entries in product codes in product table so that the entry should be allowed 
only if that product code exist in stock table. How can it be implemented? 

(A) Setting up foreign key 

(B) Setting up primary key 

(C)  Setting up constraints 

(D) Using referential integrity feature of foreign key 
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86. A new column needs to be created in an existing database table named STUDENT with 

field name DOB which is of date type. Identify the correct DDL query. 

(A)  Alter table STUDENT add constraint DOB date 

(B) Alter table STUDENT add DOB date 

(C) Alter table STUDENT add column DOB date 

(D) Alter STUDENT add column DOB date 

87. Having is a keyword used along with 

(A) select queries (B) group by clause 

(C) for giving conditions (D) all of the above 

88. HTTP is the protocol used in 

(A) Application Layer (B) Transport layer 

(C) Session Layer (D) Network layer 

89. How can we create hyperlinks so that the new page opens in a new window? 

(A)  By using rel attribute and by giving it’s avalue as “external” 

(B) By using target attribute and setting its value as _blank 

(C) By simply giving HREF without attribute 

(D) By using rel attribute and by giving it’s avalue as “next” 

90. A textbox in a webpage accepts phone numbers, How can I restrict the entry only to 

accept numbers from browser side? 

(A) using javascript code  

(B) using HTML code 

(C) using VB.NET code  

(D) all of the above 
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91. ‘þĒüř’ ďnĒkĝ uþđĐćûÝ aĉīđtļ èČ? 

(i) aüĉī 

(ii) ąċĔČĒĉī 

(iii) eŬƨň 

(A) (i) & (ii) (B) (ii) & (iii) 

(C) (i) & (iii) (D) iČėĆđnĔąĉī 

92. ‘þřnř’ ďąđďtĒĀĔþđĐćûšŕ :  

(i) ęííđŔ 
(ii) àĀkĔüĒćíŕ 
(iii) üđąćkŬŒ 

(A) (i) & (iii) (B) (ii) & (iii) 

(C) (i) & (ii) (D) eĉīđÝ čćĒĆđĻ 

93. ‘aćĆnÝ’ en āþtĒŀ āćŖđĆąđĆĒ ČćĔnĘüļ? 

(i) čĔíÝ 
(ii) āĒíÝ 
(iii) ĐÝďÝ 

(A) (i) & (ii) (B) (ii) & (iii) 

(C) (iii) ąđŗüÝ (D) iČėĆđnĔąĉī 

94. ‘aĀŖĀđŔ ČĊœtėpŨČŕ’ enœtÝ ČćĔn āþĘąļ? 

(i) íĘāđüÝ 
(ii) ôđąĒ 
(iii) āćþĖü 

(A) (i) (B) (iii) 

(C) (ii) (D) iČėĆđnĔąĉī 

95. ‘ŗāđòēĀÝ’ en āþtĒŀ ČĒāćēüāþÝ üđėċāĈĆĔnČĆĒŔ ĀĒnĝ 

íėŪtĔí : 

(i) ĀČēĀÝ 
(ii) ĀĒĘĆđïÝ 
(iii) ďÝĘĆđïÝ 

(A) (i) (B) (iii) 

(C) (ii) (D) iČėĆđnĔąĉī  
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96. ‘èŨĒėĉ āčĔ āĔĉīĝ üĒnĒĉī’ èŨĒėĉ āčĔ enüĔėíđŪĝ uĘdčĒkĔnļ 
enĝ?  
(i) aČďćČđþĒ 
(ii) ĉđĄíćąđĆ ČŏüĔ 
(iii) ŗāĘĆđôĀčĕĀŖÝ 

(A) (iii) (B) (ii) 
(C) (i) (D) iČėĆđnĔąĉī 

97. ‘ČđïřđþÝ’ āĒćĒėcċĔüĔí : 

(i) Čđį + ČđþÝ  
(ii) Čđĭ + ČđþÝ 

(iii) Čđkĝ + ČđþÝ 

(A) (iii) (B) (ii) 
(C) (i) (D) iČėĆđnĔąĉī 

98. čćĒĆđĆ āþĘąļ? 
(i) ČđĆĀčēĉÝ 
(ii) ČđĆĀđčēĉÝ 
(iii) ČđĆĀƇēĉÝ 

(A) (ii) (B) (i) 
(C) (iii) (D) iČėĆđnĔąĉī 

99. čćĒĆđĆ ČđíŖĘąļ? 
(i) ČĊČĔÝ üĒćĒČĔÝ íĆƃČĔÝ iĈkČĔÝ ĘkčíćČĔÝ ŗčąíćČĔąđĆĒćĔnĔ 
(ii) ČĊČĔÝ üĒćĒČĔÝ íĆƃČĔÝ iĈkČĔÝ ĘkčíćąđĆĒćĔnĔ 
(iii) ČĊČĔÝ üĒćĒČĔÝ íĆƃČĔÝ iĈkČĔÝ ŗčąíćąđĆ ĘkčąđĆĒćĔnĔ 

(A) (i) & (iii) (B) (ii) & (iii) 
(C) (ii) (D) iČėĆđnĔąĉī 

100. ‘ĀmŖđœ’ en āþtĒėn ŏŗüēĉĒÝïÝ íėŪtĔí : 

(i) ĀmŖđœ 
(ii) Āđ÷đœ 
(iii) ĀmĒ 

(A) (i) (B) (ii) 
(C) (iii) (D) iČėĆđnĔąĉī 
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 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 

S\Lh| kOñW°tLeV j¤WOÐfV. 

 2. S\Lh| kOñW¾]R£  oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh| kOñW Aƒq SWLcV 

A\ÿa]\ÿ]ŸOºV. 

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh| kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs 

Cq]Õ]a¾]¤ SqXRÕaO¾]p]q]¨OU. 
 4. j]°¥¨jOvh]\ÿ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh| kOñWoLeV 

sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV. 
 5. S\Lh| kOñW NWo jÒ¡ kOrU\ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWo jÒ¡ CsæL¾ 

S\Lh| kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç  S\Lh| kOñWU oLã] vL°OW. 
 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ| nLY¾Lp] y}¤ R\p]Åq]¨OU. D¾qRouOfLjOç AjOof] 

sn]\ÿLssæLRf S\Lh| kOñWU fOr¨L¢ kLa]sæ. 
 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]\ÿ]q]¨OÐ S\Lh| kOñW¾]¤ 100 S\Lh|°tOU 

NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ A\ÿa]¨L¾SfL, W}r]pSfL, 

v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]sæ; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 

RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. 

CfV JãvOU NkiLjRÕŸfLeV. 

 8. CT S\Lh|SkÕr]Rs  1 oOf¤ 60 vRqpOç S\Lh|°¥  CUYæ}x]sOU KTSh|LY]W nLxp]sOU 

(ospLtU) Bp] A\ÿa]\ÿ]q]¨OÐO.  CT S\Lh|°tORa A¡ÀU f¡²o IÐ]v yUmÌ]\ÿ 

yUwp°¥¨V CUYæ}xV oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV. 
 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢ÒV  KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 

D¾qU WºOk]a]¨OÐf]jOç WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV. 
 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 

èÈLkP¡vÿU vLp]¨OW. 
 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. 

wq]pO¾qU RfqR´aO¾V K.IU.B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç 

wq]pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]\ÿV 

WrOÕ]¨OW.  
 12. KLSqL wq]pO¾q¾]jOU KqO  oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU  oL¡¨V 1/3 

jìoLvOWpOU R\áOU. D¾qU SqXRÕaO¾L¾  S\Lh|°¥¨V oL¡¨V jìoLvOW-p]sæ.  

 13. kq}ƒLyopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO 

DSh|LYL¡À]pOU  kq}ƒLzL¥ v]-ŸV kOr¾OSkLWL¢ kLa]sæ.  
 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒ-p]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 

ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp]  NkX|Lk]¨OÐfLeV. 

BNbuGTG¡ÀWR¥¨Jç dW¡NÇq°¥ 

NVGbu eJñR 
?zk NRG]Q 

NVGbu eJñR 
IRi dÒ¡ A 

     NVGbu°nJM[ @MR D¹P : 100                                            sijP : 1 oe]¨P¡ 30 iWdWŸQ 

              ekiGpcW iG¡ V̈  : 100  


